
��������	
�����
���������������	�����������	������������
����������������
��� !�"#$%&%'()*���������+,	
� -./($-$0�1#))�2%/-3�
�	�����4,	�����
�5�67		8�+�9��8����:����
��;�<=#.>�?%@A--B)C�	,���
	��D�5�����
�E(0-.�($F�E(>0-A(0-.�G-.H%&->I�E(>0-A(0-.�2.-(0/-$0����J�������
�1=.0�"&"#..(C*�+�J	K	�
� L�MN��8	�����	O
P�QRS�R�4J�
�T%@E--B)C�@�P��;�����������	�UVVD

D++++W
��X;YXM;M�*��������+,	
Z$0-.$()�($F�![0-.$()�	,���	V
�\#$-�M]I�M;M��̂_.%̀%$()��� !��)=>%$̀�a(0-b�\($#(.C��I�M;MRc�d2<%>�'=>%0%=$e>�'(C�.(0-�<(>�?--$�(Ff#>0-F�0=�.-g)-&0�&#..-$0�/(.B-0�&=$F%0%=$>S�2<-�$=$@/(.B-0X-H()#(0-F'-./($-$0�.(0-�=g�'(C�g=.�0<%>�'=>%0%=$�%>�PQ;Shh�'-.�<=#.S��ij3j��J��jk���*��43
�����$F-.�/%$%/()�>#'-.H%>%=$I�0<-�l#0=/(0%=$��=$0.=)�2-&<$=)=̀%>0�/(%$0(%$>�%$g.(>0.#&0#.-�&=$>%>0-$0�A%0<�0<-�A(0-.($F�>-A(̀-�>#'-.H%>=.C�&=$0.=)�($F�F(0(�(&m#%>%0%=$�̂G�lalcI�'.=̀.(//(?)-�)=̀%&�&=$0.=))-.�̂ L�cI�<#/($@/(&<%$-�%$0-.g(&-F�̂n"ZcI�($F�&=//#$%&(0%=$�')(0g=./>S�2<-�%$&#/?-$0�A%))�'.=̀.(/I�.-'(%.I�F->%̀$I�.-')(&-I�($F#'B--'�())�0-&<$%&()�>=g0A(.-I�<(.FA(.-I�?)#-'.%$0>�($F�0-&<$%&()�F(0(�><--0>S�2<-C�A%))�()>=�'.=H%F-�0-&<$%&()(>>%>0($&-I�%$>'-&0�0<-�A=.B�=g�>0(gg�($F�&=$0.(&0=.>I�($F�&==.F%$(0-�>-.H%&-�F-)%H-.C�A%0<�%$0-.$()�($F�-[0-.$()&)%-$0>S� =>%0%=$�-[-.&%>->�&=$>%F-.(?)-�F-̀.--�=g�%$F-'-$F-$0�f#F̀-/-$0I�'.=?)-/�>=)H%$̀I�($F�F-&%>%=$�/(B%$̀S ==.�f#F̀-/-$0�=.�-..=.>�&($�<(H-�>%̀$%g%&($0�g%$($&%()�%/'(&0>�($FX=.�$-̀(0%H-�%/'(&0�=$�/#$%&%'()�='-.(0%=$>I&=.'=.(0-�%/(̀-I�($F�>0.(0-̀%&�F%.-&0%=$S��jk*43k�5�J���jk
�a-H-)='I�/=F%gCI�($F�/(%$0(%$�())� L�Xn"ZXG�lal�'.=̀.(/>�%$�(&&=.F($&-�A%0<�Z!����R�@R�>0($F(.F>S (.0%&%'(0-�%$�0<-�"($(̀-/-$0�=g��<($̀-� .=&->>�(>�%0�.-)(0->�0=�l#0=/(0%=$��=$0.=)Sa->%̀$�($F�%$0-̀.(0-�$-A�)=̀%&�g=.� L�Xn"ZXG�lal�>C>0-/>�(>�$--F-FS (.0%&%'(0-�%$�>%0-�(&&-'0($&-�0->0%$̀�̂Gl2c�($F�&=//%>>%=$%$̀�g=.� L�Xn"ZXG�lal�>C>0-/>So->'=$F�0=�&())@=#0>�g=.� .=&->>��=$0.=)�GC>0-/�g%-)F�>-.H%&-S��'F(0-�($F�.-H%>-�-/-.̀-$&C�='-.(0%=$�')($>�($F�G�lal�=.%-$0(0%=$�/($#()So-m#%>%0%=$�/(0-.%()>�($F�>#'')%->�(>�'-.�'=)%&CSa-H-)='�($F�/(%$0(%$�)=$̀�0-./�0-&<$=)=̀C�')($>�.-)(0-F�0=�0<-�&=$0%$#%$̀�='-.(0%=$()�.-m#%.-/-$0>�($F'.=f-&0>S .-'(.-�($F�%>>#-�.-'=.0>I�>0(0%>0%&>I�($F�#$F-.0(B-�>'-&%()�'.=f-&0>S2.(%$�='-.(0=.>I�-$F�#>-.>I�0-&<$=)=̀%>0>I�($F�=0<-.�>0(gg�(>�.-m#%.-FS!$>#.-�0<-�#'B--'�=g�())�.-m#%.-F�F=&#/-$0(0%=$�?)#-'.%$0>I�>&<-/(0%&>I�F(0(?(>->I�($F�'.=&->>�&=$0.=)/($#()>Sa-H-)='I�%$0-̀.(0-I�($F�F-')=C�$-A�('')%&(0%=$>I�>C>0-/�>=g0A(.-I�=.�-$<($&-/-$0>�0=�-[%>0%$̀�('')%&(0%=$>A%0<%$�-$H%.=$/-$0()�>-.H%&->S



����������	
���������
���	
���
	��
	��
����
��������	
����
�������

������	
�����������	�����
���
���
������	���	
�
����
���	�����
������������	
��	������������	�����������
	�����
	��������
��������	
�����
���������
��������	��������	����	
�����	
�
�������
���
�����������
�
����������������
��� !"#$#%!&#'()�*('+",-.,/�)*#"")/�!(-�!0#"#&#,)1�2��
	����������	
�������	��
���	�����
	�������3��	���
�	���������������
���������������	����
������
��	����������
�����
����4�	�����	��
��5��	�����
��������������������
�6��
����
	�5
	��
����
	���������	
���
���
���������	������3����������3��	
�����	�������	��75���
������	��������
	8����	�3���
������

��	�3�
���	�����
	��3��	
��
	���������
����
	����������������	�������
��	��	
���
���
��9:5�;;<;8<����	
��
��6��������
������	�����
����
	��	
��
	��
���
	�������	�����	������	
�����	���	�������������
�	
	8����	�����������	
���
�������	
��	���
������
��	����������
����	������	
���
������
�������
��������	
�����	�	���������6��������
���
������

���	
�����8������	����
	�������	
�����	������=������	
�������������	
���
��3������������	
������	������	
���
���>����������3��
�
��?��
��
�����	�������,- %!&#'(�!(-�,@A,B#,(%,1��C����2��

������
���
��D:����������	������������
��E	��
�������
��
��	�������������
	������������
F�����������������8�G
��	������
	�9	������	����
	�4����	�������������������8�6�����
�2���	���H���	����	�
��6�����
�2���	���H���	
�
���������������������8�9	������	����
	�
��:����������:	��	����	��H���	
�
����I����>J?�������
��9	
��������5
	��
��2��������
������	���������	���������	���
�����
�>K?�������
���������	����
��
�	������
����
��256�6�������������������
��'&L,B�B,� #B,M,(&)1��2�������
	�
����5����	������
�
�5�����9���	�����
	���������
	�������
���	
�
��
���
����	��	��	�������
	
���
	���)!$,&N1��6���	�����
����
����������
	���4�	����������
��=


�O�����
3������	�����	���������
	�������
���	
�����	
�	���	
��������������������	���	������4=OP����������	
����������	�����	��������3��	���
�	�������
������3����������3��
��
����3��������������
�������������	�������
	��
������������	���
�	�������������
�����
������
	�����
��������������	���6�������
�������������������
	�����������
���
�����������������	
��������
��������������	
�
�����3���������������
����������
����	���
	���	�3�	����������3��	��
�	��3��	
������

����
	
���
	���
���������������
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